(SAMPLE PAPER)

10" CLASS

Please read the instruction carefully you are allotted 5 minutes specifically for this purpose.

INSTRUCTION TO CANDIDATE

The Test Booklet consists of 6 questions

There ane Six parts in the question paper A B,.C,D.E.F
consisting of Mental Ability { 11 questions), Physics,
{11 question} Chenustry { 10 questions), Biology (10
question}, and Maths { 10 questions), 85T having 10
questions. Each question is allotted 4 (Four) marks
for correct Tesponse

There 15 Mo Mezative Marking

Use Blue/Black Ball Pont Pen only for writing
particulars /marking responses on the Answer Sheet.
Use of pencil s stricthy prohibited

Mo candidate 15 allowed to carmy any texual matenial,
primted or written, bits of papers, pager, mobile phone
anv clectromc device cte, cxcept the ldentity Card

inside the exammation hall/room,

Rough work is to be done on the space provided for
this purpose in the Test Booklet only

On completion of the west, the candidate must hand
over the Answer Sheet to the mviglator on duty in
the Boom/Hall. However, the candidate are allowed
to take away this Test Booklet with them.
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I Mishant 15 the brodher of Brijesh, Mitali is tlea sister
ol Mishant, Jai is the brother of Purnima, Purnima
i5 the daughter of Brijesh, Who is the uncle of Jai ¥
{A) Brijesh (B Miali

{0 Mishant {2} Purmimia

At walks 2 km souh, turned eight and walked |
km, agam twrned North and walked 5 km, wrend
East and walked 5 ki, How far 15 he from the
slortung poil 7

(A)3 km {B) 7 km

(Ch 5 Em (D) & km

[oweaid 15 moioe il Moath, then furned Wesi and
covared 10 m, then urned Scuth, and covered 3
i (hen turned Eastand covered 1 me Tnoswhech
direction am | sow Trom my siarfing poad 7

(A) lorih (B South

{C) East D) Wist

R carns more than H but nol a5 much as T, M carns
migre than B, Who gams least among them ?
{ATH {BYE

oT (I} M

Saran is eighicenth from the right end in o mow of
A1 bows, What s hus posibon from the el end”
{A)32 (B} 35

(Ch33 (D} 34

T GLARE 5 coded as 67810 and MONSDOMN as
2333339 (hen how can RANSOM be coded 7

{A) 183932 {B) 198532
(O TRU3E2 (D) 1TR0532
L

PART A - MAT

ol ufy Frera, faere & A & Ml B &
a5+ &, w, gftin @ w8, gftfen, oo @ 9
B | W & a8
(A e (B) FeeT
() Frma (D) it

2 5 1 e e ) e o = B A L
Al B a1 FRA e B e o d s
gt & 8l 5 [l aee & R gl @t aie gea
B e 5 [ =am @1 a8 aebies [ W Reael
T
(A0 3 ki {B) 7 ki
(0} 5 kin {12} & km

i3 A 15 Wi e ot sy s, Tse gffam oft ane
#a1 3 10 Hrew e, i af@m A s g
e 5 Wi e fne o @) ade g a0
HIET a1 3 A e wrtE R W e
(i & E?
{A) T {B) TR
(C) A (D) afirem

4. RH W s e # dfde T foraem T MU R
0 sl e € | S S weE g e S 29
{AVH (B} R
(CpT (D) M

(I T T s s R s R Ll s O e
wr e 8 and wiv | Saen e wEy g8e
(A) 32 {B) 33
(Cy 33 (D) 34

{hix afy GLARE 1 g7a10 31T MONSQON &
2395330 & w0 S8 [ a7 & ot RANSOM
T FHiE e @ g &
(A) 163952 (B} 198532
(C) 189352 (1Y) 189532

UG H Wik Kk
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07 Count the number of tnangles in grven fgure a7, dt 7 ampf # Eepat o e fe
{A) 38 (By 39 Ajag By 3w
{Ch 40 (D 41 }Cp 40 }D}l 41
8 In the fodlowing question, sclect the missing erm % FPresferfare e § fay o Raed 4 8 qu s
from the siven optioms. T T |
T O S 3612, 24, T 96
{A) B4 {B) 30 i A) 4 (B} Sik
{C) 52 (D) 4% (C) 52 D 48
9. Which set of letters when sequentially placed at the | o9 Py sl 1 99 o v @ad wuri o
gaps in the given lotter senes shall complete it P e e W R R L E o o B =T Fom ?
m 1 nu oy I i ui
m I mi_m_im
{E} mam ”;? 8 {A) immm {B) imim
(C) mnu {12} mm (0 i (D) mimm
Lii Fiv hes P L. R, M., O arei : Ristoth : ;
T s e AR RIT e s RTE e, ol g Bk e & B M
nght of M and left of P L 15 1o the nehi of P and left a _—_ - b 8| )
| .
of 0. Which coach ts in the nuddle? & ;-:I:m ﬁ;ﬂﬁlﬁ[_‘;? PR Ao AR EAE
=T T
(AP {(ByL
F ByL
(O R {Dvy i ik
(CHR (0
SPACE FORROUCTTWORK
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12

[

4

The focal length of eve lens is controlied by?
(A} Irs

(B} Optic nerve

() Ciliary muscles

{12 Comea

The persistence of vision for wman ¢ Qs

1 1
(A) = of a second (B) IDT of a second

fllh

I
of a second (D) —7 of a seeand

{C) T

16"
Two bodies of Skg and 4kg are tied to 8 string
ag shown. If the table and pulley are smooth. then

acceleration of Sk mass will be.

T
T D

T

sk Jo

{B) (0.35 m/s’

(v 5.55 m/s’

(A} 195 mis”
(C) 2.72 m'st
Opposition of flow of electnic current is called
{A) Potential difference

(B} Electric charge

(L} Resistance

(D Electromagnenc induction

SPALC

1. &3 o ot e wae s g el of
el &7
(A) amefrg
(B) 2w = (5= wEeh o)
() fafeass siafErn (o ST
12 oA st o o gl @ gem 8|
| |
(A ﬁT of a second (B W af a second
ikl ;
(C) et af a second (D) jge of @ segond
13, femEmm A e s f o 4 T & a1 avg
UE e | A R R i omen ueel et
gl W 5 T copne el e g8
I
I -
T
Skg l-
{A) 19.5 m/s* {B) 0.55 mfs®
{(C) 2,72 mfst (D 3.55 im/fs”
14 fiegn w @ wars & fiwg wEamm 2
(A fiparm
{B) Frega s
{C) mfwm
(D) fiega g@E W
LG H WOR K
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15 Specific resistance of a wire depends upon, L5 o A= & Rt ofhRw PeT w8
{A) Its kength (A) FO® waTE
(B Its cross - sectional area (B) 590 U W &
(C) lts dimensions (C) &b 3
(D) Itz material (D)} SHAT HHAT
16 In how many parts (equal)l a wire of 10000 be cut 16 L KC & g are & s AT (aeree) A we
s that a ressstance of 1€ is obtained by connect- W e S wHe e i e ge |0 o
ing them in parallel, HifeE Hw BT
(A L0 1B 5 {A) 1O By 5
{C) 10 (D) 50 (C) L0 (D) 50
17 In the corcunt shown in figure, the carrent flowing 17 fam # femmw o wiEwe 7 s0 wies &
through 542 resistance is, T e B s B O e
1A A ‘Jk:!——
K 5t
{A) 054 (B} 0 6A {A) 054 (B} 0.6A
(O] 054 Dy 15A (C) .04 By 15A
b When curmrent flowes clockwise ina loop, the polarity 1% e T T A ar shimmed gafda aR §
aof its face is. dl aud WE & gaal g #
{A) East {B) South (A} g4 (B) &l
(C) Wst {D) North {C) ufem (D} w
15 The intensity of a magnetic ficld is defined as the | 19 famely gawta 83 &1 daar & fras gra sgea
foree experienced by a, fFy 0 79 & w9 A ofewnftg e oam &)
{Ad Standard compass (A) o-F FHETH
(B) Unit positive. charge (B) Zaog EFITORE SR
(Cy Unit pegative charpee (C) o FweRE S
(D) Unit north pole (D) wFE T Y
20 The wire having a black plastic covenng 15 a. 20 Flel TANEE T Tren g
(A) Live wire {B) Meutral wire (A} HIZ9 o (B) &6
{C} Earth wire (D) Mong of these {C) amel TFR {Dy 5 W FIE T
SPACE FORROTCITWORK
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21

12

13,

24

Tl
A

26

A solution tumsg red litmus o blug, its pH s likels
1o be—

(Al l (8) 4
(C) 5 (D) 10k

Mk of magnesia 1 an -

(A Acid {B) Anlaced

(T Base (D) Rock sali

Which of the following 5 nol a strong acid?

{A) Ha80, (B)CH;COOH
{C) HNOY (D) HCI

NaaC0 4. 10H-0 is known as:

{A) Baking soda
() Washing soda

{B} Baking poweder
(D) Bleaching powder
What is the chemical formula of Plaster of Paris”

{A) Cas0y 2H,0 {B) Cas0, 3H,0

I
(D) Cal0; 7 Hy0

i
(C) CaS05 5 Ha0

The image shows the pH values of four solulions
on a pH scale.

[1]2[3]4]s]a|T7(8I90001]12013]14]

|

A B C

Which sclutons are alkaline i noture #

{A) A and B {B} B and
{(C) C and D (D) A and D
L]

PART C - CHEMISTRY

21 v i o feremm & <o o E & go
pH B &1 e B
(Al (B} 4
{C) 3 (D L0k
22 faem 3w fpeiiferm v &
(A) 3 {B) Ui
(C) &R (D) N SR
2. efefan § @ w9 W v gwa s e E
{A) Hys0, {(B)yCH;COOH
(C) HNO, (D) HCI
24 Naa GO h0HO &1 18 5/ o S w2
{A) T T {B) sfp oot
() arEs |iEn (D} =it Oraes
2% e Atw afm wr et g g
(A) CaS0,.2HA0 {B) CaS0,.3H,0
(C) EaEL},L.%HJ{J (D) CaC0, ]EH:ﬁ
2k FrE pH UEA 9 =l el & pH AH =
Bl
Lij2[34]se[7[8[ocinfi2fi3[14]
RN
EapC G ropt O G G o B
(AL A and B {E) B and O
(C)y Coand D (DA and D
Ui:HWOKK
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27 Which of the followang 15 o displaccment reaction? 27 Fr=forfan # 2 o @ Feemm affen &
(A} CaC0y — Cal + CO4 {A) CaC0y — Cad + OOy
{By Calt + IHC — Calll; = Ho0 (B Calt + IHCl —= Calls + Ha 0
(L) Fa + CoS0y — Felly + Cu {C) Fe = CuS0y — FeS0, + Cu
{0} MaOH + HCl — MaCl + H,0 (D) MaQH + HCl —— MaCl + H,0
I8 The reaction Hy + Cly — ZHC is a - 2. AR Hy + Clyp—s 2HCL U6 8 —
(A} Decomposiiom reaciaon (A FEEe i
(B) Combination reactson (By T s
(C) Double displacement reaction (Cy e sfifn
(D} Displocement reaction (D fimems s
H) Which of the following is a combusiion reaction X freferfeaa € 1 w9 ot == afbfEm 2
- (A) Wl @ FEe {By ®F &1 fiaa
{A) Boiling of waler (B Melting of wax (C) UEE @ (D) = W B i
{C) Burmning of petrol (D} Mone of fhese
3 sraraie gt g #1
3 Chemical changes arc
i i i3 ; : (A) STRE, T T Tw T 9aE am
{A) Temporary, reversible and o new substance 15 Fraso B 5
produced.
b AT W - ]
(B} Abways accompanied by exchange of light (0 3T RPR] 9. NV B
{CY Permanent, wrrerversible and o new subsionce (CY I, 1= e 7 TER
iz produced, e £
Teat Energy W] ﬂ'f"""lbl' qff
SPACE FORROTCITWORK
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£l

33

3

What is the process by which planis make their own

Tood from sunlight”
{A) Resparation (B} Plotosvithesiz
(O Transmraton {1 Excretion

Which ol the following 15 a characteristic of acrobic
respiration’

(AY Occurs in the absence of oxveen

(B} Produces a small amount of encrgy

(C) Produces a large amount of energy

L0 Checurs in the mitochondria

What is the process by which water moves thropgh
a plant, from the roots w0 the leaves”

{A) Bespiration (B Phaotosynthesis
{0 Transpiratson () Olsmosis

Whach ol the followmg 15 an example of a passive
transport process?
(M) Active trensport (B Osmosis
{C) Dnifuwsicm {D} Photosynthesis
What 15 the term for the process by which the body
eliminates waste products”
{A) Excretion { B Resparaiion

{0 Photosvnilesis {1} Transpiration

Which of the lollowing is a by-product of

photcsynthesis”?

{A]} Carbon dioxade {B) Oxvgen
{C) Glucose (D} Water
5

PART D - BIOLOGY

3l gg ot o) Wi & Mo g die g & sy
W AT AT I 6
(A) T {B) HETT HIew
(C) TS (D) TeETa

32 sl fiee 9 o vl vaas &) [y
B
(A) aifeiras @t arqofers o g &
(B) ol wran § aat e o A
TR 1 e i R T
(D) wrgetnif=ga § g1

3 g% &4 Wt vl & Faed g o R o &6
wal ol 9% gEdr #7
(A) TEE (B) W TTEE
{C) ot (D) O

4 =l & @ o Figsg yitass wisn @
TETET #7
(A) WiET ufmss (B) sifefas
{C) W (D} HE e

i3 o HidE ) g wed & Rred g wehe agline
TEATG | &1 FHIE el &7
{A) TS (B) 7099
{C) WerTeT T (D) T

s F=fafaa 8 @ &= O 9wy Wy @
T Y
(&) FEE SEeiEaEs  (B) sfEiE
(C) TeEIE (D} or

UGH WORK
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a7 What 15 the tcrm for the process by which cells 37 o wien T wea & frww g o
bocome specialized 1o perform specific funciions? fifere ol v @ o Rfdes 51 @nft &7
{A) Cell division {B} Cell growth Ay I e (B) it aig
(C) Cell differentinnon (D) Cell death () ST faee (D) I 7o

IR Which o the following is an example of a symbiotic | 38 Frfeafiae & 9 @9 wEeidT He & JEree #87
relationship?
{ A) Parasitism {B) Mutualism (A) TRTTHETE (B) eI
{C) Commensalism {13} Predation (C) TEAIRa (D) TEEET

L2 What is the process by which an organism produces | 39 U5 ®F o wikm & frwd g o o o
offspring that are genctically identical 1o dscl™ FATA SO0 ] B A ?-Iﬁdﬁm w0 W ST

T B 7

(A} Sexnal reproduction {A) FHEWRNE T
{B) Asexual reproduction (B) et war
() Binary fission (C) FET
(1) Budding (D FraifET

Sl Which of the following is an example of asexual | W FopefeTa # W1 T STl HarT 1 aTee
reproduciion” &7
(A} Humans givang birth fe a baby (A) FE A o) G g uET
{B) Plants producing sccds (B dTal dgT R ard e
() Bacteria dividing mnio two cells () a5t Sttt F et o #
(D) Animals laving cugs (D) AR =5 arel FeTe

SFPACEFORROUTCHWORK
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41

43

il

[T p s a posilive prime inleger, (hen “"]_: s -
{4} A rational nomber

(B An irratonal mmnber

{0 A positive inleger

{0 Kone of these

I e[t he the veros of the quadratic polfvaomial Iy?

+ 5%+ 1, then value of i = [| + i =

{A)-2 (B -1

()1 {1} Nome of these

The parr of limear oguations boc + 4w = 5 3x + 2y =

5 15 consisient cnly when -

1.—";]LTI!'; 1E:Ik=l!'r

(Chk=3 {D}k=3

i i 4 L
A lraction becomes = when 1 s added to each of

ihe namerator and denommator. However, i we

1
spbiract 5 from cach then il becomes i_l The

(raciom is —
b ] = ]
{A) = (B 3
7 13
() 3 I} T3
SPAL

PART E - MATH’S

11

43,

14

ufE p U SRS WS qOiE 8, W Jp #

(A) U gET EHEm

(B} TF amiEE e

(C) Ud HEEe gl

(D) 3 | i T

i fEu 9505 2x?+5x+ 1 &1 IS o 211

o+ [l 4+ = A BRI R

(A) -2 {Bi-l

(C) 1 (D) Mome of those

HaF FHIFET kx+ 4y =5, 3x+ 2y =5 & TH
T | B E e -
(Alkwi Bik=6
iCrk=3
e (s [ g 1 e B e 1 =3 B | e L

m%@malm_mmmw

{D)k=3

amﬁmﬁ-%ﬂmﬂlﬁmi

e b ]
(A) — (B} 3

13

(Ch e

(¥}

UGHWORK
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45 A plane left 40 minnics late due to bad weather and 43 WA I A e i T 40 ThE &9 O
in arder to reach 18's destinateon, [HH) kmoaway m (il #}]eﬂfﬁlﬁmﬂmmﬂw %[H ‘?{'ﬂ bkd JF{;
: : o . ‘-'I'ﬂ ey o YT A AT HH
t t had to in's 40k km'h 1
R '“‘;’_’::;;5“:’”” Gt i 400 faeft we werl o) e o
i's usual specd. Fi usual speed of the plane ey s wifeT—
(A0 GO0 kndh (I 750 kmv'h (A 600 kb (B} 750 kmvh
{C) 800 kanh (D} MNonc of these (C}y 800 km/h {D} Mone of these
Ip* +g inf) — i
46, Il sec & = “——— then the valuc of the 46 aft secp=Y2 T4 4. PET__9°F
. o g pEind +qeoost
ik 5
o)~ 4c0a0 1 -
g sim (= g cos 6
F4
2 P ¥
B B (A) — By 7
{A) T {B) | q q
:' '] 1 F
1 ] ] 2 -0 P +4
p'—q P +q (C) 1 D) vt
{C) R (D} ot pt+q P o-q
47 79+ 3 cos? 0 =4 then 47.  7sin? B +3 cost B =i TH
I 1 1
(A tan § = f'_E {B) tan 1 = ; (A) tan B = & {B) tan 0 = 5
: 1 . 1
] = = — ERIES ] = — i f= —
{07 tan ¢ 5 (D) tam £ & (C) tan ¢ 3 {D} tan T
A% The first, second and last terms of an AP are ab | 48 T AP & Oel, O afE Aftm 75 ab 3 2a
and 2a. The mumber of terms in the AP is . #1 AP ¥ uaf & HE= #
A 2 (B}
(A} — B o Lt e b+a
-
©) 7 D) T s
44 ABC is atriangle and DE is drawn parallel oo BC cutting | 49 ABC UF e # 3l DE @1 BOS wArToe dian
the ofher sides at D and E. WAB = 3.6 em, AC = 24 T A 3 w 4 3T 5 qr e B
cm and AD = 2.1 cm. then AE 15 equal to - afz AB=36em AC=24cm % AD=21cm
(A} L4 cm () 18 cm B. T AE B
{C) 1.2 em (1) 1.05 cm (A) k2 am (i) 1.8 o
(Cy 1.2 cm (I 105 cm
Al The powmts (- 2, 2}, (8. — 2} and {— 4. — 3} arc the e :
i s fg (-2 208 -2) i (-4 - %) W v E-
{A) equilateral A B scasati i (A) TOTATE A {B) TG A
(T mght & {1} Mone of these (C) T8 A (D) 779 | FF T8
SPACE FORROTCITWORK
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51

53

56

What wrritories did the Habsburz Empire rule

over!
{ A} Austria {B) Romania
(C) Hungary (I} Both A and (0

The Jallianwala Bagh is lecated at
(B) Multan
{Ivy Jallandhar

(A Lahore,
(T} Amritsar

What is Palar Pam as refermed by the people of

Ragasthan™
(A Milk {B) Biver water
{C)Sprmg water (D} Bain Water

What 15 the percentage of forest of total geo-
graphical Area in India -

{A) 30.001% (B) 25.02%

(O3 33.01% {1} 20064,

Which one country was not a part of the Alled
Powers in the Second World War 7

{A) Great Britain

{C) Giermany

(B} France
(D) US.A,
“Sinhala and Tanul’ languages are maim lanpuages

of which country?

(M) Nepal (B Maldives

(') Sn Lanka
The Regur 5ol 1= alzo known as -

(A} Red Soil (B Yellow Soil
(C) Black Soil (I Alfuvial Soil

(D} Myanmar

SPALC

PART F - 55T

il pare] e | e Sl ue owmae B
(A} aitfga (B) =rnferan
(C) B Dy &1 (A &Y 0y
57 arferararen =i e B
{A) TER (B) =T
(C) e (D) EHER
53 AR & SR U YT &) F SEd &7
(A) g8 (B) =T &1 ur=
{C) 5% & gt (D el a1 g
34 o W oo Ao &1 oSt e afirem
[ e -
(A} 30.01% (B) 25.02%
{(C) 33.001% (D 20.64%
33 Feitar forva gz o i a9 fv 2t fevan
g a7
(A) TE faea (B) WTH
(C) (D)} FUHY.
i “fhiwa afm afe amrt e < @ megg amnd
E?
(A} wUTe (B) srasha
(C) =ireiam (D) AR
57 dipe T et sl oft G w8 —
(A) &1E (B drefr
{C) wrett Fadl (D) Wt fre
LG H WOR K
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&

A

il

What is the third tier of government known as?

{A} Village Panchayats
{B) State government

(C) Local self-povermment
{D) Zila Parisha

Human Development Report' i3 published by

{A)UNDP
{CYWHO
Aoy the following Soath Asian countries,
haod the highest Iife expectancy ot birth,

(B} 5n Lanka
(D) India

{B}UNESCO
(D) WTO

{A) Myanmar
{C) NMepal

5% HOEW @ TR W @ FE mE W A
(A) TR g
(B) T TRE
(C) TR T
(D Faren oy
50 wrd fawrn Ford fens g parlee & andt
a7
{A) UNDP (BYUNESCO
(C)WHO (D)} WTO
i Frefelan sEm o gl s, . dg=
& WA HAH A e memem ot
(A) HITHIE (1) sfter
{C) =Taret (D) I
UGH WORK

Piprall Boacl, Sikar -33280 (Rajasthan), Comeact Moo 94033 23 444, BHTR0 LY Do, 500 17 358K
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wanaR sitoas affonal @ &

Run by
NAVJEEVAN SCIENCE GROUP SIKAR

Kautilya lIT-JEE Academy

Piprali Road, Sikar (Raj.]
C 88750 23 160, 88750 23 161, BET50 23 162
L 2

Navjeevan NEET Academy

Piprali Road, Sikar (Ra).)
. 92570 86 020, 92570 86 021

-
Navjeevan Science School
Jyaoti Nagar, Piprali Road, Sikar (Raj.)
U 01572-254888, 8890 45 8888, 889015 8888

Navjeevan CBSE Academy

Jhunjhunu Bypass, Sikar [Ra).)
= 979 990 1555, 8290 16 BB88
» =

Navjeevan NDA & Defence Academy
Vrindavan City, Jhunjhunu Bypass, Sikar (Raj.)

. 8875 03 BBB88, 8875 04 8888
L &

Navjeevan SAINIK Academy
Vrindavan City, Jhunjhunu Bypass, Sikar (Raj.)
‘. B875 03 8688, 8875 04 8888

Navjeevan Science College
Vrindavan City, Jhunjhunu Bypass, Sikar {Raj.)

L01572-248544, 9TT334TBRBRB, B384971413

L

Navjeevan B.Sc. B.Ed. College
Vrindavan City, Jhunjhunu Bypass, Sikar (Raj.) fa;lﬁnmm'
L01572-248544, 9TTI34TBE8, 83849715413 o 19 Tat =T

-

T EETe




